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Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.

Question 1. A. visits
   B. destroys
C. believes
D. depends
Question 2. A. kind
   B.  milk
C. time
D. mile
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position ofprimary stress in each of the following questions.

Question 3.  A. correct 
      B. provide 

          C. produce 

   D. offer
Question 4.  A. miserable
    B. decisive
 C. beautiful
  D. national

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

Question 5. You didn't go to school yesterday, ________?

       
A. don’t  you
B. were you
C. did you
D. are you

Question 6: Have you ever thought of travelling into _______ space ?

            A. the

           B. no article
            C. a
                       D. an

Question 7: There is a map_____________ the wall just  above the teacher’s desk.

                      A. from 

B. on
            C. before 
              D. in front of

Question 8. She decided _____________ up yoga to help her to lose weight .

       
A. to taking
B. taking
C. take
D. to take 

Question 9. If you __________all of my questions, I can do anything to help you.

       
A. answered

  B. answer             
         C. had answered              D. will answer

Question 10. We have_______________________

           A. an old wooden thick table                  B. a thick old wooden table

           C. a thick wooden old table                    D. a wooden thick old table
Question 11. 
_____rain or snow, there are always more than fifty thousand fans at the football games.

A. Even though
   B. Because

           C. Despite

   D. Because of

Question 12. He will take the children for a work to a nearby playground__________ .


A. before he finished dinner 
B. as soon as he finishes dinner 


     C. while he was having dinner 
   D. after he had eaten dinner 

Question 13. He was very glad as the attendees applauded for his presentation _______ yesterday.


     A. carefully prepared 
 B. having carefully prepared 
 
                                                

               C. was carefully prepared                                   D. carefully preparing
Question 14. Everyone can help the needy by making a  ______ to a charity organisation.


    A. donate
  B. donation
    C. donative
    D. donating 
Question 15. They ______ a big fortune when they were young, so they didn’t have to work hard. 

     A. came into
  B. took up
   C. looked for                    D. took after

Question 16. I think that _______ responsibility for human life shouldn’t only be doctors’duty.

          A. doing

B. rushing

         C. joining

    D. taking

Question 17. My uncle left his job because he did not have _____ of promotion. 


       A. visions 
   B. prospects 
       C. scenarios 
       D. posts 

Question 18. English is an obligatory subject from sixth grade across Vietnam, but in large cities, many primary schools demand high _________.

         A. capacity

B. experience

          C. competency
                 D. ability 

Question 19. I can say in all _______that I knew nothing of these plans.

          A. trust

           B. sincerity
                     C. loyalty

     D. faith

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.

             Question 20. This organization was formed to do the mission of the preservation of biological            

  
           diversity, sustainable use of natural resources, and the reduction of pollution and wasteful consumption.

                 A. contamination 

B. energy 

C. extinction 

D. development
Question 21. School uniform is mandatory in most of Vietnamese schools.

A. divided 


B. depended  

C. compulsory

D. paid 

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

Question 22. In Western culture, it is polite to maintain eye contact during conversation.


A. discourteous 
B. insecure 
C. informal
D. irresponsible

Question 23. : She grabbed it firmly, got to her feet and walked past him with her nose in the air.
A. proudly

         B. hastily

   C. arrogantly
         D. modestly

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best completes each of the following exchanges.

Question 24. Jane is talking to  Mary to her hair . 

  - Jane:  “ What an attractive hair style you have got, Mary!” 

  - Mary : “__________________ “


A.You are telling a lie. 
                                    B. I don’t like your saying


C. Thank you very much. I’m afraid                  D. Thank you for your compliment.

Question 25. Maria and Alex are talking about the environment.

  - Maria: “Our environment is getting more and more polluted. Do you think so?”

 - Alex: “_________ It’s really worrying.”


A. I’ll think about that. 
C. I can’t agree with you more
     B. I don’t agree

D. I don’t think so.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 26 to 30.

ROBOTS

Ever since it was first possible to make a real robot, people have been hoping for the invention of a machine (26) _______ would do all the necessary jobs around the house. If boring and repetitive factory work could be managed by robots, why not boring and (27) _______ household chores too?

For a long time the only people who really gave the problem their attention were amateur  inventors. And they came up against a major (28) _______. That is, housework is actually very complex. It has never been one job, it has always been many. A factory robot  carries out  one task endlessly until it is reprogrammed to do something else. It doesn’t run the whole factory. A housework robot, on the (29)  _______hand, has to do several different types of cleaning and carrying jobs and also has to cope  with  all the different shapes and positions of rooms, furniture, ornaments, cats and dogs. (30) _______, there have been some developments recently. Sensors are available to help the robot locate objects and avoid obstacles. We have the technology to produce the hardware. All that is missing the software- the programs that will operate the machine.

Question 26:
A. that
B. what
C. when
D. where

Question 27:
A. interactive
B. repetitive
C. sensitive
D. widespread
Question 28:
A. support
B. benefit
C. difficulty
D. advantage

Question 29:
A. another
B.others 
C. every
D. other 

Question 30:
A. However
B. Therefore
C. Besides
D. Moreover

Read the following passage and mark the letter A, B, c, or D on your answer sheet to indicate the correct answer to each of the questions from 30 to 34. 
When we meet people for the first time, we often make decisions about them based entirely on how they look. And of course, we too are being judged on our appearance. Undoubtedly, it’s what’s inside that’s important but sometimes we can send out the wrong signals and so get a negative reaction, simply by wearing inappropriate clothing.

When selecting your clothes each day, it is therefore important to think about who you’re likely to meet, where you are going to be spending most of your time and what tasks you are likely to perform. Clearly, on a practical level, some outfits will be more appropriate to different sorts of activity and this will dictate your choice to an extent. However, there’s no need to abandon your individual taste completely. After all, if you dress to please somebody else’s idea of what looks good, you may end up feeling uncomfortable and not quite yourself.

Some colours bring your natural colouring to life and others can give you a washed-out appearance. Try out new ones by all means, but remember that dressing in bright colours when you really like subtle neutral tones or vice versa will make you feel self-conscious and uncomfortable. You know deep down where your own taste boundaries lie. It may be fun to cross these sometimes, but do take care not to go too far all at once.

Reappraising your image isn’t selfish because everyone who comes into contact with you will benefit. You’ll look better and you’ll feel a better person all round. And if in doubt, you only need to read Professor Albert Mehrabian’s book Silent Messages, which showed that the impact we make on each other depends 55 percent on how we look and behave, 38 percent on how we speak, and only seven percent on what we actually say.

Question 31: Which could be the best title for the passage?


A. Choosing Appropriate Business Suits


B. Making Judgements about People’s Appearance


C. Making Your Image Work for You


D. Creating a Professional Image

Question 32: The word “undoubtedly” in paragraph 1 is closest in meaning to _______.


A. doubtfully.
B. unquestionably
C. uncertainly.
D. deniably.

Question 33: According to paragraph 1, people can get a negative reaction from others by _______.


A. talking about other people’s behaviours.
B. sending out right signals.


C. wearing inappropriate clothes.
D. expressing too strong emotions.

Question 34: Which of the following is NOT mentioned in paragraph 2 as a factor to be considered when choosing clothes?


A. Places you spend time in.
B. Other people’s views on beauty.


C. Kinds of tasks you perform.
D. People you meet.

Question 35: The word “others” in paragraph 3 refers to _______.


A. neutral tones.
B. taste boundaries.
C. colours.
D. means.

Read the following passage and mark the letter A, B, c, or D on your answer sheet to indicate the correct answer to each of the questions from 36 to 42.


We are descendents of the ice age. Periods of glaciations have spanned the whole of human existence for the past 2 million years. The rapid melting of the continental glaciers at the end of the last ice age spurred one of the most dramatic climate changes in the history of the planet. During this interglacial time, people were caught up in a cataclysm of human accomplishment, including the development of agriculture and animal husbandry. Over the past few thousand years, the Earth’s climate has been extraordinarily beneficial, and humans have prospered exceedingly well under a benign atmosphere.

Ice ages have dramatically affected life on Earth almost from the very beginning. It is even possible that life itself significantly changed the climate. All living organisms pull carbon dioxide out of the atmosphere and eventually store it in sedimentary rocks within the Earth’s crust. If too much carbon dioxide is lost, too much heat escapes out into the atmosphere. This can cause the Earth to cool enough for glacial ice to spread across the land.

In general the reduction of the level of carbon dioxide in the atmosphere has been equalized by the input of carbon dioxide from such events as volcanic eruptions. Man, however, is upsetting the equation by burning fossil fuels and destroying tropical rain forests, both of which release stored carbon dioxide. This energizes the greenhouse effect and causes the Earth to warm. If the warming is significant enough, the polar ice caps eventually melt.

The polar ice caps drive the atmospheric and oceanic circulation systems. Should the ice caps melt, warm tropical waters could circle the globe and make this a very warm, inhospitable planet.

Over the past century, the global sea level has apparently risen upwards of 6 inches, mainly because of the melting of glacial ice. If present warming trends continue, the seas could rise as much as 6 feet by the next century. This could flood coastal cities and fertile river deltas, where half the human population lives. Delicate wetlands, where many marine species breed, also would be reclaimed by the sea. In addition, more frequent and severe storms would batter coastal areas, adding to the disaster of the higher seas.

The continued melting of the great ice sheets in polar regions could cause massive amounts of ice to crash into the ocean. This would further raise the sea level and release more ice, which could more than double the area of sea ice and increase correspondingly the amount of sunlight reflected back into space. The cycle would then be complete as this could cause global temperatures to drop enough to initiate another ice age.

Question 36. What is the main topic of the passage?
A. The possibility that the popular ice caps will melt.

B. Man’s effect on the carbon dioxide level in the atmosphere.

C. The climate of the Earth over the years. 


D. The coming of another ice age.

Question 37. According to the passage, carbon dioxide is stored in each of the following EXCEPT______.

A. sedimentary rocks

B. polar ice caps 
C. rain forests

D. fossil fuel

Question 38. According to the passage, what is the relationship between carbon dioxide and the Earth’s climate?
A. Carbon dioxide, which is trapped in glacial ice, is released when warm temperatures cause the ice melt.

B. An increase in atmospheric carbon dioxide results in the warming of the climate.

C. The greenhouse effect, which leads to the warming of the climate, is result of too much carbon stored in the Earth’s crust.

D. Rain causes carbon dioxide to be washed out of the atmosphere and into the ocean.


Question 39. The word "beneficial" in the first paragraph is closest in meaning to______.

A. calm

B. inviting


C. thoughtful

D. favorable

Question 40. It can be inferred from the passage that the development of agriculture______.

A. preceded the development of animal husbandry.


B. withstood vast changes in the Earth’s climate.

C. did not take place during an ice age.



D. was unaffected by the greenhouse effect.

Question 41. The word “this” in the third paragraph refers to______.

A. man’s upsetting the equation
 

B. the melting of the polar ice caps

C. a volcanic eruption




D. the reduction of the level of carbon dioxide.

Question 42. The word “inhospitable” in the fourth paragraph is closest in meaning to______.

A. imperfect

B. uninhabitable

C. unlikable


D. cruel

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.

Question 43. Everybody in my house have to do their share of household chores when we are at home.


A. Everybody 
B. have to  
C. their share  
D. household chores 
Question 44. So far this term, the students in writing class have learned how to write thesis statements, 

organize the material, and summarizing the conclusion.


A. have learned
B. write
C. organize
D. summarizing
Question 45. Our  principal is that everyone has to join hands  to do the housework.


A. principal 
B. has to
C. hands
D. do 

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.

Question 46. : In my opinion, Young Americans are more romantic than Asian counterparts. 

A. In my opinion, Young Asians aren’t as romantic as American counterparts. 


B. In my opinion, Young Asians are as romantic as American counterparts. 


C. In my opinion, Young Americans are as romantic as Asian counterparts. 


D. In my opinion, Young Americans aren’t as romantic as Asian counterparts. 

Question 47. "You must finish these assignments before this weekend." the teacher said.

     A. The teacher told us that we had to finish those assignments before that weekend

     B.The doctor suggested that we had to finish those assignments before that weekend .

     C. The doctor advised that we had to finish these assignments before that weekend

     D.I was ordered we had to finish those assignments before this weekend.

Question 48: Children are not allowed to play football in the streets.


 A. Children may play football in the streets.                B. Children mustn’t play football in the streets.


 C. Children should play football in the streets.
   D. Children needn’t  play football in the streets.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.

Question 49. He helped us a lot with the project. We couldn’t continue without him.


A. Provided his contribution wouldn’t come, we couldn’t continue with the project.


B. But for his contribution, we couldn’t have continued with the project.


C. Unless we had his contribution, we could continue with the project.


D. If he had contributed positively, we couldn’t have continued with the project.

Question 50. We arrived at the cinema. Then we realized our tickets were still at home.


A. No sooner had we realized that our tickets were still at home than we arrived at the cinema.


B. Not until we arrived at the cinema that we realized that our tickets were still at home 


C. Only after we arrived at the cinema did we realize that our tickets were at home.


D. Hardly had we arrived at the cinema than we realized that our tickets were still at home. 

=== THE END===
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                      ĐÁP ÁN THAM KHẢO GIẢI THÍCH 2021
                                                                   ===***===

Question 1: Đáp án A:=> B, D, D, được phát âm là /z/, còn A là /s/

Question 2: Đáp án B:=> A, C, D được phát âm là /ai/, còn B là /i/

Question 3: Đáp án D:=> D nhấn âm 1, còn A, B, C nhấn âm 2 

Question 4: Đáp án B:=>A nhấn âm 2, còn A, C, D nhấn âm 1 

Question 5: Đáp án C:  => Câu hỏi đuôi:

S + V (kđ) +…, auxn’t + S? (Vế trước có nghĩa khẳng định + vế sau phủ định)

S + V (pđ) +…, aux + S? (Vế trước có nghĩa phủ định + vế sau khẳng định)

Question 6: Đáp án B

Kiến thức về mạo từ: a , an , the

Không dùng mạo từ trước space

Question 7: Đáp án B

Kiến thức về giới từ đứng trước danh từ : on the wall

Question 8: Đáp án D: =>Dạng thức của động từ (V, to-V, V-ing, Vpp)
S + decide + to-V

Question 9: Đáp án B: =>Câu điều kiện loại 1
If + S + V( simple present tense), S + V( simple future tense)

Question 10: Đáp án B:=>Áp dụng công thức trật tự của tính từ OpSACOMP
Question 11: Đáp án C: => dùng  giới từ Despite để chỉ sự tương phản. 


Tạm dịch (Mặc dù mưa hay tuyết, Vẫn luôn có hơn 50 nghìn người hâm mộ tại các trận đấu bóng đá)

Question 12: Đáp án B:=>Mệnh đề trạng từ chỉ thời gian

    Simple future+as soon as+ simple present

Question 13: Đáp án A :=> Rút gọn mệnh đề quan hệ ở dạng câu bị động

… who/ which/ that + V + …( … who/ which/ that + V-ing + … (V- chủ động)

… who/ which/ that + be + Vpp + …( … who/ which/ that  + Vpp + … (V- bị động)

Eg: He was very glad as the attendees applaused for his presentation which was carefully prepared yesterday.

=>He was very glad as the attendees applaused for his presentation carefully prepared yesterday.

Bỏ đại từ quan hê và bỏ trợ động từ, giữ lại trạng từ ( nếu có) và Vpp
Question 14: Đáp án B: =>câu từ loại, chọn danh từ (cấu trúc : to make a + N)
Eg: to make a donation : quyên góp, hiến tặng

Tạm dịch: Mọi người có thể giúp người nghèo túng bằng cách quyên góp tới các tổ chức từ thiện.

Question 15: Đáp án A: => Phrasal verb: 

+ take up: thu hút, chiếm thời gian

+ look for: tìm kiếm

+ take after: chăm sóc

+ come into ~ a property /a big fortune: thừa hưởng một tài sản, một gia tài lớn

Tạm dịch: Họ đã thừa hưởng một gia tài lớn khi họ còn trẻ , do vậy họ không phải làm việc vất vả

Question 16: Đáp án D: =>- collocation  : to take responsibility = to be responsible for st / doing st: chịu trách nhiệm về điều gì

Tạm dịch: Tôi nghĩ rằng chịu trách nhiệm về sinh mạng của con người không chỉ là nghĩa vụ của  các bác sỹ

Question 17: Đáp án B: = > word choice – real context to choose a noun

To have prospects of promotion: có triển vọng thăng tiến

prospects: triển vọng 

visions: tầm nhìn

scenarios: viễn cảnh

posts: vị trí 

Question 18: Đáp án C:=> word choice – real context to choose a noun. Tạm dịch: Tiếng Anh là môn học bắt buộc từ lớp 6 ở khắp Việt Nam, nhưng ở các thành phố lớn nhiều trường tiểu học đòi hỏi yêu cầu năng lực cao.

competency: năng lực;  capacity: công suất; experience: kinh nghiệm; ability: khả năng

Question 19: Đáp án A :=> ngữ cố định “ in all sincerity: rất thật tình” 

Tạm dịch: Tôi có thể nói rất thật tình rằng tôi không biết gì về những kế hoạch này.

Question 20: Đáp án A: => Từ đồng nghĩa – kiến thức về từ vựng
Pollution= contamination : sự ô nhiễm, sự làm bẩn

Tạm dịch: Tổ chức này được thông báo làm nhiệm vụ bảo tồn sự đa dạng sinh thái, sử dụng bền vững nguồn tài nguyên thiên nhiên và giảm sự ô nhiễm và sự tiêu thụ lãng phí.
Question 21: Đáp án C:=> Từ đồng nghĩa – kiến thức về từ vựng 
Mandatory = Compulsory bắt buộc > < optional ( lựa chọn)

Tạm dịch: Đồng phục là yêu cầu bắt buộc ở hầu hết các trường học ở Việt Nam.

Question 22: Đáp án A:=> Từ trái nghĩa – kiến thức về từ vựng
Tạm dịch: Ở văn hóa phương Tây, duy trì giao tiếp ánh mắt trong khi nói chuyện là lịch sự.

=> discourteous: bất lịch sự > <polite: lịch sự

A. discourteous (adj): bất lịch sự             C. informal (adj): không trang trọng, thân mật

B. insecure (adj): không an toàn
D. irresponsible (adj): vô trách nhiệm

Question 23: Đáp án D: => Từ trái nghĩa – kiến thức về thành ngữ
 with one’s nose in the air: nói đến cách cư xử ra vẻ ta đây giỏi hơn người khác của ai đó ( vênh mặt lên, hách dịch)

A. proudly(adv): một cách tự hào, hãnh diện      C. arrogantly(adv): kiêu căng, ngạo mạn,

B. haughtily(adv): kiêu căng, ngạo mạn, 
     D. modestly(adv): khiêm tốn

=> with her nose in the air> <modestly => Đáp án là D 

Question 24: Đáp án D: =>What an attractive hair style….… đây là tình huống đưa ra lời khen
Đáp lại lời khen; - Thanks/ Thank you/ Many thanks. That’s a nice compliment/ Thank you for your compliment 

Tạm dịch: Jane đang nói chuyện  với Mary về  tóc  mới của cô ấy 

  - Jane:  “ Cậu có kiểu tóc mới rất đẹp đấy Mary ạ!” 

  - Mary : “__________________ “


A. Bạn đang nói đùa à. 
 C. Cảm ơn bạn, tớ e là không


     B. Tớ không thích bạn nói vậy
 D. Cảm ơn về lời khen của cậu nhé.

Question 25. Đáp án C: => Đáp lại một câu hỏi về quan điểm; (+) Đồng ý; I completely agree. /I can’t agree with you more/ It’s true./ You are right...

(+) Không đồng ý: I don’t agree./ I don’t think so/ It’s not true./ You are wrong…

Tạm dịch: Maria  và Alex đang nói chuyện cùng nhau về môi trường
- Maria: “Môi trường của chúng ta đang ngày càng bị ô nhiễm. Bạn có nghĩ như vậy không?”

 - Alex: “_________ Thật sự rất đáng lo.”
A. Mình sẽ suy nghĩ về điều đó.

C. Mình hoàn toàn đồng ý với cậu.
B. Mình  không đồng ý.


D. Mình không nghĩ vậy

Question 26: Đáp án A:=> Kiến thức về đại từ quan hệ

Chỗ trống cần một đại từ quan hệ chỉ vật nên chọn đáp án phù hợp là A. “that” thay cho cho danh từ “machine”.

Tạm dịch: people have been hoping for the invention of a machine (1) _______ would do all the necessary jobs around the house: con người vẫn nuôi hi vọng có phát minh được một cỗ máy mà nó có thể làm tất cả những công việc cần thiết quanh nhà.

Question 27: Đáp án B:=>Kiến thức về từ vựng
A. interactive (adj): tương tác
C. sensitive (adj): nhạy cảm

B. repetitive (adj): lặp đi lặp lại
D. widespread (adj): lan rộng; phổ biến

Tạm dịch: If boring and repetitive factory work could be managed by robots, why not boring and repetitive household chores too?: Nếu những công việc nhàm chán và lặp lại tại nhà máy có thể được thực hiện bởi robot thì tại sao những việc vặt nhàm chán và lặp đi lặp lại tại nhà lại không thể được như vậy?

Question 28: Đáp án C:=>Kiến thức về từ vựng
A. support (n): sự ủng hộ
B. benefit (n): lợi ích



C. difficulty (n): sự khó khăn
D. advantage (n): sự thuận lợi

Question 29 : Đáp án D: => cụm từ “on the other hand” : mặt khác

Question 30 : Đáp án A: => Vế sau chỉ sự tương phản, trái ngược với vế trước.

A. Tuy nhiên
B. Vì thế
C. Ngoài ra
D. Hơn nữa

Tạm dịch: (5) _______, there have been some developments recently: _______ gần đây có vài tiến triển. Vậy chỗ trống điền liên từ chỉ sự tương phản “However” là phù hợp vì câu phía trước thể hiện những khó khan mà “housework robot” phải đương đầu như phải làm các loại việc lau chùi, khuân vác khác nhau…

Question 31. Đáp án C:=> Which could be the best title for the passage?: Câu nào sau đây phù hợp làm nhan đề nhất?
A.Choosing Appropriate Business Suits: Lựa chọn trang phục suit phù hợp cho thương gia
B.Making Judgements about People’s Apperance: Đánh giá về ngoại hình của mọi người
C. Making Your Image Work for You: Khiến hình ảnh của bạn có lợi cho bản thân
D. Creating a Professional Image: Tạo ra một hình ảnh chuyên nghiệp
Dẫn chứng (đoạn 1): When we meet people for the first time, we often make decisions about them based entirely on how they look. … sometimes we can send out the wrong signals and so get a negative reaction, simply by wearing inappropriate clothing: Khi chúng ta gặp ai đó lần đầu tiên chúng ta thường đánh giá về họ hoàn toàn dựa trên việc họ trông như thế nào … đôi khi chúng ta có thể đưa ra những tín hiệu sai, do đó nhận được phản ứng tiêu cực đơn giản chỉ vì những gì ta mặc không phù hợp.

Đoạn đầu tiên tác giả dẫn dắt vấn đề và chốt rằng việc ăn mặc không phù hợp có thể dẫn đến bị đánh giá không đúng, và các đoạn văn sau đi vào phân tích cách để tránh điều này. Vậy nên nhan đề phù hợp cho cả bài là phương án C. Ta chọn đáp án đúng là C.
Question 32: Đáp án B=> The word “undoubtedly” in paragraph 1 is closest in meaning to _______.

    Undoubtedly  =  unquestionably: không bị hoài nghi, rõ ràng chắc chắn. 

Question 33. Đáp án C:=> According to paragraph 1, people can get a negative reaction from others by ___: Theo đoạn văn 1, ai đó có thể nhận được phản ứng tiêu cực từ những người khác bằng cách ___
A. talking about other people’s behaviours: trò chuyện về hành vi ứng xử của người khác
B. sending out right signals: gửi đi những tín hiệu đúng

C. wearing inappropriate clothes: mặc trang phục không phù hợp
D. expressing too strong emotions: biểu lộ cảm xúc quá mạnh mẽ
Dẫn chứng (đoạn 1):
Như đã phân tích ở câu trên thì một người có thể nhận được phản ứng tiêu cực đơn giản chỉ vì mặc trang phục không phù hợp. Vậy chọn đáp án đúng là C. 

Question 34. Đáp án B:=> Which of the following is NOT mentioned in paragraph 2 as a factor to be considered when choosing clothes?: Trong các câu sau câu nào không được nhắc đến trong đoạn 2 như một nhân tố được cân nhắc khi lựa chọn trang phục?
A. Places you spend time in: Những địa điểm bạn dành thời gian ở đó
B. Other people’s views on beauty: Quan điểm của mọi người về cái đẹp
C. Kinds of tasks you perform: Loại công việc bạn cần làm
D. People you meet: Những người bạn gặp
Dẫn chứng (đoạn 2): When selecting your clothes each day, it is therefore important to think about who you’re likely to meet, where you are going to be spending most of your time and what tasks you are likely to perform: Khi lựa chọn trang phục mỗi ngày, điều quan trọng cần cân nhắc là bạn có thể sẽ gặp ai, bạn sẽ dành hầu hết thời gian của mình ở đâu và những công việc gì bạn có thể sẽ làm.
Như vậy dựa vào dẫn chứng trên ta thấy phương án B không được đề cập. Ta chọn đáp án đúng là B.
Question 35. Đáp án C:=>  The word “others” in paragraph 3 refers to _____: Từ “others” trong đoạn 3 có ý chỉ _____
A. neutral tones: tông trung tính


C. colours: màu sắc
B. taste boundaries: giới hạn (khiếu) thẩm mỹ
D. means: cách thức, phương tiện
Dẫn chứng (đoạn 3): Some colours bring your natural colouring to life and others can give you a washed-out appearance: Một vài màu mang sắc tự nhiên của bạn vào cuộc sống, một vài màu khác lại có thể đem lại cho bạn một vẻ ngoài nhợt nhạt.
Dễ thấy “others” ở đây là các màu sắc. Vậy chọn đáp án đúng là C.
Question 36: Đáp án A: => Hỏi về nội dung chính bài đọc là gì?

A. Khả năng là các chỏm băng ở địa cực sẽ tan chảy


B. Ảnh hưởng của con người đối với lượng Các bon đi-ô-xít/ khí các bon ních trong bầu không khí

C. Khí hậu của trái đất qua các năm

D. Sự xuất hiện của một thời kì băng hà khác

Question 37: Đáp án B:=>Theo bài đọc Các bon đi-ô-xít được lưu giữ ở trong mỗi chỗ  nào sau đây ngoại trừ: các chỏm băng ở địa cực ( dòng 3 đoạn 2: All living organisms pull carbon dioxide out of the atmosphere and eventually store it in sedimentary rocks within the Earth’s crust. Và dòng 2,3 và 4  đoạn 3: Man, however, is upsetting the equation by burning fossil fuels and destroying tropical rain forests, both of which release stored carbon dioxide.) 

A.đá trầm tích   

B. các chỏm băng ở địa cực 

C. những khu rừng mưa 

D. nhiên liệu hóa thạch

Question 38: Đáp án B:=>Theo bài đọc mối quan hệ giữa Các bon đi-ô-xít và khí hậu của trái đất là gì: 

Đáp án B:  Sự gia tăng lượng Các bon đi-ô-xít trong bầu không khí gây ra sự nóng lên của khí hậu: dòng 2,3,4 đoạn 3 (Man, however, is upsetting the equation by burning fossil fuels and destroying tropical rain forests, both of which release stored carbon dioxide. This energizes the greenhouse effect and causes the Earth to warm.)
Question 38: Đáp án D: => Over the past few thousand years, the Earth’s climate has been extraordinarily beneficial, and humans have prospered exceedingly well under a benign atmosphere.

 ( Trong suốt vài nghìn năm qua, khí hậu của trái đất đã thuận lợi một cách lạ thường, và con người đã phát triển cục kì tốt dưới một bầu không khí ôn hòa )

A.êm đềm
B. lôi cuốn
C. chu đáo
D. thuận lợi 

Question 39: Đáp án C: =>  Có thể suy ra từ bài đọc rằng nông nghiệp không phát triển được trong suốt kỉ băng hà. Thông tin nằm ở dòng 3,4 và 5 đoạn 1:During this interglacial time, people were caught up in a cataclysm of human accomplishment, including the development of agriculture and animal husbandry.)
Question 40: Đáp án A:=> Man, however, is upsetting the equation by burning fossil fuels and destroying tropical rain forests, both of which release stored carbon dioxide. This energizes the greenhouse effect and causes the Earth to warm ( Tuy nhiên con người đang làm đảo lộn sự cân bằng do việc đốt các loại nhiên liệu hóa thạch và phá hủy các khu rừng mưa nhiệt đới, cả hai hành động này làm tỏa ra lượng Các bon đi-ô-xít được dự trữ. Điều này tăng cường hiệu ứng nhà kính và khiến cho trái đất ấm lên)

Question 41: Đáp án B : => Dòng 1,2 đoạn 4: Should the ice caps melt, warm tropical waters could circle the globe and make this a very warm, inhospitable planet.( Nếu các chỏm băng ở địa cực tan chảy ra, các vùng biển nhiệt đới ấm sẽ bao quanh trái đất và làm cho nó trở thành môt hành tinh rất nóng và không ở được.)

A. không hoàn hảo
B. không ở được
C. không đáng yêu
D. thảm khốc

Question 42: Đáp án D: => Hỏi về nội dung chính của đoạn cuối là gì?


A. Mối quan hệ giữa đại dương và mặt trời


B. Nhiệt độ toàn cầu tăng lên


C. Lượng ánh nắng mặt trời phản chiếu vào không gian vũ trụ


D. Các điều kiện mà có thể dẫn tới một kỉ băng hà

Question 43: Đáp án B: =>(Sự hòa hợp giữa S và V) “Everybody” là đại từ bất định nên động từ theo sau phải được chia ở số ít nên đổi“have to”thành“has to”.

Question 44: Đáp án D: => (cấu trúc song song được nối bởi liên từ “and”.summarizing =>summarize)

Question 45: Đáp án A:=>sai nghĩa; principal(người đứng đầu, hiệu trưởng) => principle (nguyên tắc)
Question 46 : Đáp án A: => Cách chuyển đổi câu dùng thức so sánh : so sánh hơn( so sánh ngang bằng.

Câu gốc: Người trẻ tuổi Mỹ lãng mạng hơn các bạn đồng trang lứa ở Châu Á

-> Đáp án A:Người trẻ tuổi Mỹ không lãng mạng bằng các bạn đồng trang lứa ở Châu Á

Question 47. Đáp án A:=> Chuyển đổi câu gián tiếp

Tạm dịch: Cô giáo bảo : “Các em phải hoàn thành những bài này trước cuối tuần này”

 Khi chuyển sang gián tiếp cần chú ý biến đổi: 

must => had to; these => those; this => that

Đáp án B: gợi ý => không phù hợp

Đáp án C: khuyên=> không phù hợp; these chưa đổi
Đáp án D: yêu cầu => không phù hợp; this chưa đổi
Question 48: Đáp án B:=>  Kiến thức: Modal verb “mustn’t” chỉ sự cấm đoán

Tạm dịch: Trẻ em không được phép chơi bóng trên đường phố

Đáp án A: Trẻ em có thể chơi bóng trên đường phố-> sai nghĩa

Đáp án C: Trẻ em nên chơi bóng trên đường phố -> sai nghĩa

Đáp án B: Trẻ em không được phép chơi bóng trên đường phố 

Đáp án D: Trẻ em không cần chơi bóng trên đường phố -> sai nghĩa

Cấu trúc cần nhớ:

mustn't = không được phép

may = được phép

should = nên

needn’t = không cần

Question 49. Đáp án B :=> dùng câu điều kiện loại 3 (không có thực ở quá khứ)
But for +N, main clause: nếu không có

- Provided: miễn là

- But for + N: nếu không có

-Unless = If ...not: nếu... không

A. Miễn là sự đóng góp của anh ấy sẽ không đến thì chúng tôi không thể tiếp tục dự án. (sai cấu trúc)

B. Nếu không có sự đóng góp của anh ấy thì chúng tôi đã không thể tiếp tục dự án. 
C. Nếu chúng tôi không có sự đóng góp của anh ấy thì chúng tôi có thể tiếp tục dự án. (sai nghĩa và cấu trúc)
D. Nếu anh ta tiếp tục đóng góp tích cực cho dự án, chúng tôi không thể tiếp tục dự án (sai nghĩa)
Question 50. Đáp án C: => dùng đúng cấu trúc đảo ngữ với only after: 

We arrived at the cinema. Then we realized our tickets were still at home.

Tạm dịch: Chúng tôi đến rạp chiếu phim. Sau đó, chúng tôi nhận ra vé của chúng tôi vẫn ở nhà.
Only after + S + V ... + Auxiliary + S + V 
Ex: Only after all guests had gone home could we relax: Chỉ sau khi tất cả khách đã về nhà chúng tôi mới có thể thư giãn.

Các đáp án còn lại dùng sai các cấu trúc đảo ngữ với Not until, No sooner và Hardly. Các cấu trúc đúng phải là:

A. No sooner ... than...

Ex: No sooner had I arrived home than the telephone rang: Tôi vừa về đến nhà thì điện thoại reo.

B. Not until... did

Ex: Not until/ till I got home did I know that I had lost my key (= I didn’t know that I had lost my key till I got home): Tôi không biết rằng mình đã bị mất chìa khóa cho đến tận khi về nhà.

D. Hardly/ Bearly/ Scarcely ... When/ before 

Ex: Hardly had she put up her umbrella before the rain came down in torrents: Cô ấy vừa mở ô che thì mưa trút xuống xối xả.

=== The end ===
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